EARAZROREIERT — 2 N— XBISY —F 20205128168 (k) 14[E1%#A3H

mﬂﬁ%c 214 5% (xwl s | mEmml - |5 6) o 8
[xE£] 1 %:240,000  2#%:56,000M”  3#%&:24,000M  43%&:17,000 53#:12,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
) A EHRE :28. 222 |38.7| - TS (54
i lglg|NsF 21—~ i3 48 1(2_8)6 2-2-2-2 | 38.7 1 (5+016) %Illiiﬁ A
RixATrrR—b B:xFV11IL—X SRS
S KRET :28. -1-1- . — HEZE (513)
2 6| FTvFvhy b ie 54.0 1(12/82)7 =) 389 ! (3_912) II[E=LS :
L:vENTA— BNYXRAD Ak —8l
3 4|l 7rELTO-5— 4 3 g’zﬁlﬂﬂ?& 1:(370>.2 3-3-4-3 | 39.5| — 2 457 Eg%i (5512)
RITLTUER BIFIFuINZT W) e ko7 —n
e . 7 FR g : -4-3- — PEE=fR (5HR)
4 3| 7L KT—L K i 3 Ll 1.(381).8 4-4-3-4 | 41.2 3 (4_217) e A
L:T—IWRI-Z B:HRINTTT— At R
< . . EITIEs :32. —8-7- . - HIEER (1)
SRR ZE Y B 7 B 1(352)9 8-8-7-7 |39.8 8 ;1_274) i A
LN BiTYS HFASZREy K
Y > PEEREE T A #o4 | BARA 1635.0 6-6-6-6 |41.3| — | 5 ff) @gg& (&)
L:O—X¥x>LJ8L BNLEx—Ua = iE—
= o FEBTE :33. —-7-7- . - BRIRA (5H43)
71717 FANIFAIN= i o4 *52.0 ¢ 1(13/32)] 78 | 40,8 ! ;‘_517) Fif%) 71<7;<;7
:T7v3IT—L BYINIILIT pEAllbae]
N . RS : ~5-5- — PNEE=AR (S5HR)
85|5 | EXZANT 5 # s | B B | ewes e - |6 | e EER
L:Er7FOvY BNTI TR
® I —F—@EBIERL
13=zr= 6,8,4,3,5,2,7,1
23—+ — 6,8,4,3,5,2,7,1
Gal=7r= 6,8,3,4,5,2,(1,7)
43—F— 6,8,4,3,5,2,1,7
[ RN
B OB 8 1004 714K 6-8 150H B = 6-8 260M 3ER 4-6-8 320M
1 B 8 100M 4-8 150 B H 8-6 310 JEH 8-6-4 750
6 130M4 4-6 350
4 130H4

ARICOVWTRDTEEERROODE. TR LI,



